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Dt X A O EFE 585. 9ha
Q7 U —rRAEFICEHEL-tRNDEMAEE X IIHEEDOREEBEOEE 475. 8ha
QHEMRIZHITH70F LU LD ELEEDHIEEEN AT 301. 1ha
i OLEBEREDNDEREBEOMEAROEE 274. 1ha
i YHEBBEFICOVWTTHADERXEOHIEMBEDSE Oha
@HEAICENTSERPLBEARNSIEZZITIEMOHLHEEMBEDO S 245ha
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Bt (B - B F)
BRENFE |REmE| BENFE |REEE BEXE2ECHEA

JKFE 8 ha |7K## 8 ha
RIENEES 98 ha |KFE. =. HE 98 ha
K Fi 25 ha |[KFE 100 ha
K Fi 3 ha |KF# 3 ha
KFE. B 5 ha |JK#d. B3 8 ha
K Fi 13 ha |/KF& 13 ha
K Fi 8 ha |/KF# 8 ha
K Fi 6 ha |KFE 6 ha
K Fi 3 ha |KF# 3 ha
K Fi 6 ha |[KFE 6 ha
KFE. B 11 ha |K#E. B3 11 ha
K Fi 38 ha |[KFE 38 ha
&g 2 ha |BF3 2 ha
K Fi 1 ha |[KF# 1 ha
K Fi 16 ha |/KF& 50 ha
KFE. B 14 ha |/K#E. B3 100 ha
JKFE 3 ha |/KF&E 3 ha
KFg. LWEZ 6 ha [JKFE. LV 6 ha
JKFE 7 ha |7K%# 7 ha
JKFE 5 ha |/KF&E 5 ha
] IK i 7 ha [/KFR 7 ha
] K7 15 ha [KF# 15 ha
e K Fi 12 ha |/K#8 12 ha
] IK i 5 ha [/KFR 5 ha
RE IS TNEES 5 ha [7K%H, BFZR 15 ha
R IK i 10 ha [ 7K 10 ha
RE K7 3 ha [KF# 3 ha
e RN ES 5 ha |K#H. B73% 5 ha
& U TNEES 3 ha [7K%E, BFZR 3 ha
BABBREORAND, A0 7 22 Zha
BEELONRFERSE G0 2 o
TOFEEET, L 2 ha JKFB 2 ha
] KiE 2 ha |K7# 2 ha
R SN ES 4 ha |7k, BFZR 4 ha
R IK i 9 ha K7 9 ha
RE K% 11 ha [7K%# 11 ha
RE JKFE 7 ha |KF& 30 ha
R 1 ha [KFE 1 ha
JKFE 2 ha [/K7i# 2 ha
R 4 ha |/KFi# 4 ha
] K i 5 ha [KF# 5 ha
RE 7K i 11 ha [KFE 11 ha
K Fi 6 ha |/KF@E 8 ha
i} 7](?@ 5 ha |/KFE 5 ha
?i’h?z 7](*@‘ = 2 ha [/K%E, = 2 ha
?i’h?z 7](*@‘ = 3 ha [/K%E, = 3 ha
] KHE, £ 10 ha [K#E. = 10 ha
?i’h?z 7](*@‘ = 3 ha [/K%E., = 3 ha
?i’h?z 7](?@ 3 ha |/KFE 3 ha
?i’h?z 7](*@‘ = 5 ha [/K%E., = 5 ha
?i’h?z 7](?@ 2 ha |/K#FE 2 ha
el 7](*@‘ [5ES 2 ha [/K%E., B73R 2 ha
?i’h?z 7](?@ 2 ha |/K#FE 2 ha
?i’h?z 7](?@ 3 ha |/KFE 5 ha
?i’h?z 7](?@ 3 ha |/KFE 3 ha
RE K i 2 ha | K 2 ha
e W5 C 1 ha [LV6C 1 ha
S kFE, E 2 ha |KfR. = 10 ha
B | B3 5 ha | /KT 5 ha
B | B3 13 ha |KT# 15 ha
B | B3 8 ha | /KT 8 ha
RE | JKFig 3 ha |K%& 3 ha
=t 628 = A 489 ha 734 ha




